" MATHEMATICS

L Swathi wants to know where her dictionary is. Her sister
says, “It is on the second shelf from the top of the bookcase.

It is also the sixth shelf from the bottom of the bookcase”. 1
How many shelves are there on the sister’s bookcase? o c
(A)5 B)6

) | | (B) 4 { ! (
()7 (D)8

J
2. It is now half past twelve. Which of the following clﬁclf '
tells the correct time? A >

o ) v
The sum o :1:& largest three digit number and the smallest
one dlglt ber is:

%) 1000 (B) 990
{(© 900 ) . (D)999

UCN/2010/11 : m
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. | > /
Sania poured all the orange juice into 3 oféf '
containers shown below. 1 x ‘ i

The 3 containers Sani

(AP, Q8 &) é) Q
S, T,U ‘J‘ D Q,S, T
5. When then ers are arranged in an order beginning
'~ with the s

2} mBber that comes in the middle is:
> rLA)llQ  (B)207 (C)115 (D) 127
UCN/20 10/ m
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6.

Study the pictures and answer the questlon.

Dress Hand bag Comb a pair of Mirror
Rs. 30 Rs. 59 Rs. 2| }sandals Rs. 19| |Rs. 5

<%

yé

Manasa goes shopping with Rs. 100.‘

1tem, she “}lj have

s1i

If Manasa buys a handbag and ano
Rs. 11 left. The other item that s

(A)lipstick  (B) pair of sandals (€) dres

Priya goes to the market to buy 10 kg of fice, 4 kg of sugar
and 3 kg of tomatoes. She then goes to a ry shop to
buy 6 kg of carrots and 3 Qﬁ‘f potatoe

How much more food Th Kilograms (kg) does she buy at
the market than at t}'ggr cery store?

(A)8kg (B)‘G kg (C)9kg (D) 11 kg

Alamp post i is pldced between a library and a playground.
The lamp.postis 145 m away from the library and 245 m
away from the p}a ground. How far is the library from
the pla und?

(Id) comb

Playground Lamp post

[ ; - ~Pit—

245 m : 145m

(A)3760cm  (B)450m (C)390m (D) 4500 cm

UCN/2010/111 m
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9, Which picture shows a shaded shape that is different from
the other three?
= 1
(A) ' ®B) "r b
. - - ‘T/ )
: ‘\< { ':
£ TRIPRY
() ‘ ) <A gy
A (! N !'
10. Diagram shows a calendar. '; ) 1"
MAY 2006 B 74 l ; mAv 2005 1
S e
1T 2 3 4 5 3 1 2
7 8 9 10 1M 12 13 !4"/6 7 8 9
14 15 16 17 18 19 20| (v 11 1 %15 16
2 22 23 4 25 26 17 18 s 20 21 2 =
28 29 30 3 24 25 . 26 27 28 29 30
17 May 2006 falls“)‘l as f
-
(A)Monday 4 (B) Wednesday
(C)Thursd?(: . (D) Friday
11. Numéral fo -iv"f) thousand and sixty-three is:
(A)28 1 (B)2063

(D) 263

® gsons at

» ='many cgokies did Nisha bake?
(A)9 . B)12 °
@) 1 (D) 27

"r

UCN/2010/HI

<%
(C) 2603"}
12. Nisha b;(e some cookies. She ate 9 of them and her three

3 cookies each. There were no cookies left. How

www.examrace.com
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13. Find the figure which has the same number of straight

| Unified Councll

lines and curved lines as in the figure given below.

(A)

14. Lahari had 3 fifty rupee not
5 two rupee notes. After she treatedlheyfamily to dinner, -

she had Rs. 65 left. How much did
(A)Rs. 180
(C) Rs. 245

X

(C)W (D)

" » ¥
2 ten Fupee n:otes and
inner cost?

(B)Rs. 190
A Q(lD) Rs. 115
15. Study the diagram aﬂd{nmer the question that follows.

£

UCN/2010/11
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16. Find the odd ﬁgure in the given alternatlves

(A) B) / 571 Y

€
© A (D) A ; - / N
17. Nandini took 1 week to complete a computq‘rg)?ro.]e{t III%

she spent 8 hours 35 minutes each day to dogthe projgct,
how much time did she take altdgether t cor‘l‘plete the

project? P
(A) 36 hours 5 minutes ( urs minutgas
(C) 60 hours 5 minutes (P) 97 hpurg 25 minutes

18. Plastic cups were sold in packe f fives. How many
packets would Jerry have to buy, if gfded 377 plastic

yé

cups? A {‘
(A)74 4 < B)75 (»
(C)76 -4 (D) 71
19. Omne litre is Q((lal to:
(A) 2 250 il * S B3x250m
(C) 501ml D | (D) 2% 500 ml
<% 30 What s\e mlssmg number in the box?
] 3 9
- 4
: ) 8 3
(A) 3/ - (B)4 (C)b (D)6
-~
r
UCN/2010/111 23]
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21. Which of the following figures have no curved suxrface?

UCN/2010/1IL -
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What is the missing number? ;(
(A3 - (B)6 )7 (D) 9 ,,.. |
’
24. Which of the following is the llghtest? < ‘r

(A) 1093 g (B) 1390 ¢ C) 1kg ?
25. Hasini is standing in line wit flowe

Hasini

Flower pot is the 3rd flower pot from Hasini’s

-I right. 1‘ {’
(A)P OF D) G

26. The &A shadéd corners of the following figure have been

- 2 :
| (The two corners that have been cut out have flat
> 'urfaces.

- (A) rectangular (B) triangular
(C) square (D) rhombus
UCN/20610/HI 25

www.examrace.com



R T T R Counainy

27.

29.

30.

(J@I% ””””””” 5y

Number of days in each of two months which come one
after the other but have the same number of days are:

(A) 28 B) 30 (0) 31 (D) 29 \
Study the diagram below. r |
- N
5 <4
2 ' ¥
3 14| 7 |6]1 - |
Ak W
1 N l'
€l
What is the missing number in th ? <% 1
(A)8 (B) 4 o
There were some coins in my kiddy . I put 28 more
coins into it. My brother put  §6 coins into the
kiddy bank. There are 98 coins now. Ho manycoms were
there at first?
(A)28 (B) 32 ﬁé 30 1 (D) 34
Study the picture be‘aw d answer the question.

he tank ¢an hold __ of water. I
A)8I (B) 10! (C)91 (D)12!
1ch of the following is the shortest length?
(A) 320 cm ~(B)3m2cm
(C) 23 m (D) 2km 3m
UCN/2010/III 26
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32, How much does 6 toy cars, 5 dolls and 2 ping pong sets
and 2 balls cost?

"/

3forRs.4  2forRs.5 1 forRs.2.50 4 forRs.|
(A) Rs. 24.50 (B)Rs.2750 < 44 y £

~ r
(C) Rs. 22 (D) Rs. 16* ( | ‘}
33. Study the diagram and fill in tlﬁl’;}nl{ }‘,

.IIlfli'l-i”l-I‘I_[-H’-Hj’l{ﬂ'lil I'H|1-i||]|lnllﬂﬂ!|ﬂll |IiH‘HI]llll'llll!ll‘!’ﬂél

") (clips) longer than the

The ruleris ™ , 0
eraser. k ,
(A) 2 (C)4 (D)6

. 34. Whena umbe;} s divided by 5, the quotient is 24. What
& 2 is t_hei) duct when the same number is multiplied by 2?
¢

(A) 12 1\ (B) 60 (C) 120 (D) 240

4
Each @ stands for 100 gl

The mass of the bottle of sweets is :
(A)200g (B)300¢g (C)400g (D)500 g

UCN/2010/LII
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36. At a zZ0o, there were peacocks and deer in the same

enclosure

P
(1
ht;"r/

Sunil counted 40 heads and 128 legs altogether. ‘_" ! J I
L
2

r

How many animals of each type were in thtieh{losurg
(A) 24 deer and 17 peacocks (B) 22 déer and 18 eac ""Ks
(C) 18 deer and 22 peacocks (D) 24deer amd 16 pez)c cks

‘”Ej @&C {

38. How many litres #r“a ere in the gu:m of 3960 m! and
3100 mi?

-

(A)71 - 0l (C)7001 (D) 7000
39. 5 childl:'en s‘arﬂl 32 blue marbles and 196 red marbles
equally. ow'ﬂj;ny marbles did each child get?
W569yg  (B)ar (C)39 (D) 67

<%
(4(7./ Study thj gram below and answer the question. o

- [] L
gJ / IS o P
o O O O
Tﬂere are more squares than rectangles.
(A0 (B)2 (G4 M)5

=

UCN/2010/11I m
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CLASS : lII GENERAL SCIENCE
41. Bears eat fish, berries, nuts and green plants. The bear is:
(A) a producer’ (B) an omnivore 4 (
(C) a herbivore (D) a carnivore ‘r 4
42. Which type of stimuli is NOT detected by our 'skin_?i .[’ 9 r/ ’ )

45.

(A) Heat (B)Light  (C)Pain D Touch @' 7F
L i

: i
Which of these traffic signs should be put in thg\placd‘of

the word ‘No entry’? s a 1
i O

] e
ol " o@D

(A) The Sun (B) The Earth (C)The Mo

Look at the picture belﬂ ‘
| } ' y

Among the following which 1# the l‘fst?
' (Dyenus

(A) pulsd . (B) flower (C) spice (D) cereal

v
46, If therg is a weather forecast that says there will be a
. storm in the next 24 hours, what will yvou do?
(A) Stay outdoors (B) Stay at home
-~ F) Wash clothes (D) Play in the rain
UCN/2010/11 E
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Medha observed a fish and concluded that the fish was

no longer alive.

Which of the following observations allow her to’:fhw
such a conclusion?

(A) It does not respond to stimuli  (B) It has gi
(C) It has body covered with scales (D)

(A) Sparrows  (B)Owls (C ins | (D) Ta11orb1rd

50.
(A) hardfand stxyr‘g (B) made of wood
& (C) mAdg of plants (D) free from germs
(5-1,. What d}y u call de::a.d plants and animals that have
_ become of the soil?
¥ A Clay (B)Humus (C)Sand (D) Loam
52. Which of the following units is used to measure how hot
or cold/the water is?
(A@ Kilograms (B) Kilometers (C) Degrees celsius (D) Millilitres
53. !.now is a form of water in state.
(A) ligud (B) gaseous (C)solid (D) vapour
UCN/2010/1i1
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54. Which of these will you use to closely observe an ant?

55.

%%M__, )

The arrow sign (—— ) mea
following animals can X’ be

(A) Frog (B) Eagle 4 (C)Fox Deer

56. Observe the long, tkn ﬁ\pointed beak of sunbird given
below.

The b

(A) sucl':t-ne ar from flowers . (B) catch fish

is used to:

(C) break nuts and grains : (D) tear flesh

?
- A
T Study the diagram given below.
* ! R AP LA RO

r

Which of these is NOT a factor requlred for the above
changes to take place?

(A) Water (B) Air (C) Nutrients (D) Warmth
UCN/2010/1 Ed
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58. Into which of the following layers of soil, the roots of
plants do not reach? .

(A) Top soil (B) Bedrock

(C) Subsoil (D) All of the above P
59. Which system warns a person that milk is too hot to r b

drink? ~ A - '3‘(

(A) Circulatory system (B) Nervous system ' { \ h]

(C) Muscular system (D) Digestive system 1 e q° ;
60. Which of these shows the correct s‘lu nce xhase!

of the Moon? i

AQ-R-SP )P~> R

(COOP-Q-R 4 @)R-}Q

61. Which ofthe follow drawings best shows the life cycle
of mango plants gromng naturally in a garden‘?

)fT IR

ruﬂ growth flower fruit

-?_}(A) - \jwer (B) [

seed ‘j | ,——» seed —1

growth

: (C) flo\tver growth D) gro»fth \ fruit
1 fruit ,_J flower
r
UCN/2010/11L m 4
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62. Look at the diagram given below.

Birds with such feet are most likely to be found in:. Y, % {' ’ }
(A) deserts  (B)lakes (C)forests (D) corn ﬁelds" !

63. We have shorter days and longer nights in: _ 4 .',\ ";
(A) winter (B) summer (C)rainy W %3) sp{ng

64. Which of these supplies the energy t the wa].e cycle?

' / u‘ }“\
(A) ®) | L (C) 5 D)
N
Moon E‘t{ x Sun‘}) Candle
65. Which of the follow"* fibres are used to weave clothes

suitable to wear il month of May?

(A) Cotton {Q)ﬁute (©) Silk (D) Coconut
66. Which one of'the followmg is a difference between glass
and pss:) ? -
-r‘i » ass Paper
(A) Living fin Non-Living thing
( BJ Non-living thing Living thing
'n. C) Non-li ng thing that was Non-living thing that was

once a never alive

(D) Nort- 1 ing thing that was Non-living thing that was
never alive once alive

67. SIFltha wants to send a saree to her friend in Mexico.
Which of these forms of communication can she use?

(A) Phone (B) Fax (C) E-mail (D) Post
UCN/2010/111 E
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71.

The Moon produces no llght and yet it shlnes at mght
Which of the following statements give the reason?

(A) The Moon is covered with a thin layer of ice

~ (B) The Moon has many lamps

1
(C) The Moon revolves at a very high speed « r 1
(D) The Moon reflects the light from the sun - y,

Which of the following is the Bés way of ke ing our

surroundings clean? )
(A) Throwing garbage on the ro
(B) Letting waste water to flow on the rodd
(C) Throwing garbage intefiggvered bins »
(D) Spitting in the opemy

Which part of the_hpa a tree makes food?

((A) P ) B)Q (COR - (D)S

UCN/2010/111 m
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‘72. All of the characterlstlcs listed above belong to:

Charocteristics of abird

1. Short ond hooked beak

2. Twotoes front ondiwoc back
3. dingtofroes

Parrot Penguin
73. The diagram below shows tiny open
of a leaf. :

(A) stomata  (B) feel®s g (C)buds

(D) cotyledons

74. The diagram below‘_ ws the changesin the state of water.

ALle |
( "f \_/

N amegd process X

(A)Boilin (B) Freezing (C)Melting (D) Condensation
75. Which df the following statements is true about the

\ "house given below?
B
g

&) Itisa tempora;'y house
= @) It is made up of canvas

C) It can be easily moved from one place to another place

(D) All of the above

UCN/2010/1I
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